

Sumudu decomposition method for solving fractional delay differential equations

¹Hassan Eltayeb and ²Eltayeb Abdeldaim

¹Mathematics Department College of Science , King Saud University

²Omdurman Islamic University College of Science and technology Sudan.

Email: ¹hgadain@ksu.edu.sa and ²eltayeb.mohammed3@gmail.com

Abstract

In this paper, The Sumudu transform decomposition method is applied to solve the linear and nonlinear fractional delay differential equations (DDEs). Numerical examples are presented to support our method.

Keyword: Sumudu transform decomposition; linear and nonlinear fractional delay differential equations

2010 Mathematics subject classification, 44A05, 44A10, 26a33

Introduction

In the literature there are a kind of integral transforms used in physics and engineering , the integral transforms were extensively used to solve the differential equations, several works on the theory and application of integral transforms such as Laplace , Fourier , Mellin and Hankel .

Watugala [1] introduce a new integral transform named the Sumudu transform and applied it to solution of ordinary differential equation in control engineering problems for properties of Sumudu transform see [2], [3], [4]. The Sumudu transform is defined over the set of the functions :

$$A = \left\{ f(t) : \exists M, \tau_1, \tau_2 > 0, |f(t)| < Me^{\frac{t}{\tau_j}}, \text{ if } t \in (-1)^j \times [0, \infty) \right\}$$

By the following formula :

$$F(u) = S[f(t)] = \frac{1}{u} \int_0^{\infty} e^{-\frac{t}{u}} f(t) dt, \quad u \in (-\tau_1, \tau_2)$$

Delay differential equations arises when the rate of change of a time dependent process in its mathematical modeling is not only determined by its present state but also at certain past estate

known as its history. Introduction of delays in models enriches the dynamics of such models and allow a precise description of real life phenomena. DDEs arise frequently in single processing , digital images , control system [8], lasers , traffic models [6], metal cutting , population dynamic [9], chemical kinetics [7], and in many physical phenomena .

Theorem 1

If $F^n(u)$ is the Sumudu transform of nth order derivative of $f^n(t)$ then for $n \geq 1$

$$F^n(u) = \frac{F(u)}{u^n} - \sum_{k=0}^{n-1} \frac{f^k(0)}{u^{n-k}}$$

For more details see [4]

Analysis of the method

In this paper we will consider a class of nonlinear delay differential equation of the form :

$$\frac{d^n y}{dt^n} + R(y) + N(t - \tau) = f(t) \quad (1)$$

With the initial condition :

$$u^k(0) = u_0^k \quad (2)$$

Where $y = y(t)$, R is a linear bounded operator and $f(t)$ is a given continuous function N is a nonlinear bounded operator and $\frac{d^n y}{dt^n}$ is the term of the highest order derivative

The Sumudu decomposition method consists of applying the Sumudu transform first on both side of (1) to give :

$$S \left[\frac{d^n y}{dt^n} \right] + S [R(y)] + S [N(t - \tau)] = S [f(t)]$$

By theorem (1)

$$\frac{S(y(t))}{u^n} - \frac{C}{u^{n-k}} + S [R(y)] + S [N(t - \tau)] = S [f(t)]$$

Where $C = \sum_{k=0}^{n-1} f^k(0)$

$$S(y(t)) = u^k C - u^n S [R(y)] - u^n S [N(t - \tau)] + u^n S [f(t)] \quad (3)$$

The standard Sumudu decomposition method define the solution $y(t)$ by the series :

$$y(t) = \sum_{n=0}^{\infty} y_n(t) \quad (4)$$

The nonlinear operator is decomposed as :

$$N(t - \tau) = \sum_{n=0}^{\infty} A_n \quad (5)$$

Where A_n is the a domain polynomial of $y_0, y_1, y_2, \dots, y_n$ that are given by :

$$A_n = \frac{1}{n!} \frac{d^n}{d\lambda^n} \left[N \left(\sum_{n=0}^{\infty} \lambda^n y_n \right) \right]_{\lambda=0}, \quad n = 0, 1, 2, \dots \quad (6)$$

The first a domain polynomials are given by:

$$\begin{aligned} A_0 &= f(y_0) \\ A_1 &= y_1 f'(y_0) \\ A_2 &= y_2 f'(y_0) + \frac{1}{2!} y_1^2 f''(y_0) \\ A_3 &= y_3 f'(y_0) + y_1 y_2 f''(y_0) + \frac{1}{3!} y_1^3 f'''(y_0) \end{aligned} \quad (7)$$

Apply (4) and (5) in (3) we have :

$$S \left[\sum_{n=0}^{\infty} y_n \right] = u^k C - u^n S \left[R \sum_{n=0}^{\infty} y_n \right] - u^n S \left[\sum_{n=0}^{\infty} A_n \right] + u^n S [f(t)] \quad (8)$$

Comparing both side of (8):

$$S [y_0] = u^k C + u^n S [f(t)] \quad (9)$$

$$S [y_1] = -u^n S [Ry_0] - u^n S [A_0] \quad (10)$$

$$S [y_2] = -u^n S [Ry_1] - u^n S [A_1] \quad (11)$$

In general the recursive relation is given by :

$$S [y_n] = -u^n S [Ry_{n-1}] - u^n S [A_{n-1}] \quad , \quad n \geq 1 \quad (12)$$

Applying inverse Sumudu transform to (9-12) then :

$$y_0 = H(t) \quad (13)$$

$$y_n = -S^{-1} [u^n S [Ry_{n-1}] + u^n S [A_{n-1}]] \quad , \quad n \geq 1 \quad (14)$$

Where $H(t)$ is a function that arises from the source term and prescribed initial conditions .

Numerical examples :

Example 1

Consider the nonlinear delay differential equation of first order :

$$y'(t) = 1 - 2y^2(\frac{t}{2}) \quad , \quad 0 \leq t \leq 1 \quad , \quad y(0) = 0 \quad (15)$$

Apply Sumudu transform to both side of equation (15):

$$S [y'(t)] = S [1 - 2y^2(\frac{t}{2})]$$

Using theorem (1) and initial condition we have :

$$\frac{Y(u) - y(0)}{u} = 1 - S [2y^2(\frac{t}{2})]$$

$$\frac{Y(u)}{u} = 1 - S [2y^2(\frac{t}{2})]$$

$$S [y(t)] = u - u S [2y^2(\frac{t}{2})] \quad (16)$$

Applying the inverse Sumudu transform to (16) we have :

$$y(t) = S^{-1} [u] - S^{-1} [u S (2y^2(\frac{t}{2}))]$$

$$y_0(t) = S^{-1} [u] = t$$

$$y_0(\frac{t}{2}) = \frac{t}{2} \quad (17)$$

$$y_{n+1}(t) = -S^{-1} [u S (2A_n)] \quad (18)$$

From equation (7)

$$A_0 = y_0^2(\frac{t}{2})$$

$$A_1 = 2y_0(\frac{t}{2})y_1(\frac{t}{2}) \quad (19)$$

$$A_2 = 2y_2(\frac{t}{2})y_0(\frac{t}{2}) + y_1^2(\frac{t}{2})$$

At $n = 0$ in equation (18) :

$$y_1(t) = -S^{-1} [u S (2A_0)] \quad (20)$$

Substituting equation (19) in (20) we get :

$$y_1(t) = -S^{-1} [u S (2y_0^2(\frac{t}{2}))]$$

$$y_1(t) = -S^{-1} [u S (2(\frac{t}{4}))] = -S^{-1} [u S (\frac{t^2}{2})]$$

$$y_1(t) = -S^{-1} [u (u^2)] = -S^{-1} [u^3] = -\frac{t^3}{3!}$$

$$y_1(\frac{t}{2}) = -\frac{(\frac{t}{2})^3}{3!} = -\frac{t^3}{48} \quad (21)$$

At $n = 1$ in equation (18) we have :

$$y_2(t) = -S^{-1} [u S (2A_1)] \quad (22)$$

Substituting equations (19) in (22) :

$$y_2(t) = -S^{-1} [u S (2(2y_0(\frac{t}{2})y_1(\frac{t}{2})))]$$

$$y_2(t) = -S^{-1} [u S (\frac{4t}{2} (\frac{-t^3}{48}))] = S^{-1} [u S (\frac{t^4}{24})]$$

$$y_2(t) = S^{-1} [u S (\frac{4!u^4}{24})] = S^{-1} [u^5] = \frac{t^5}{5!} = \frac{t^5}{120}$$

$$y_2(\frac{t}{2}) = \frac{t^5}{3840} \quad (23)$$

At $n = 2$ in equation (18) we have :

$$y_3(t) = -S^{-1} [u S (2A_2)] \quad (24)$$

Substituting equations (19) and (24) :

$$y_3(t) = -S^{-1} [u S (2(2y_2(\frac{t}{2})y_0(\frac{t}{2}) + y_1^2(\frac{t}{2})))]$$

$$y_3(t) = -S^{-1} [2u S (\frac{2t^5}{3840} (\frac{t}{2}) + (\frac{-t^3}{48})^2)]$$

$$y_3(t) = -S^{-1} [2u S (\frac{t^6}{3840} + \frac{t^6}{2304})]$$

$$y_3(t) = -S^{-1} [2u (\frac{u^6 \cdot 6!}{3840} + \frac{u^6 \cdot 6!}{2304})]$$

$$y_3(t) = -S^{-1} [u^7] = -\frac{t^7}{7!} = -\frac{t^7}{5040}$$

The series solution is given by :

$$y(t) = y_0(t) + y_1(t) + y_2(t) + \dots$$

$$y(t) = t - \frac{t^3}{6} + \frac{t^5}{120} - \frac{t^7}{5040} + \dots$$

The exact solution is $y(t) = \sin(t)$

Example 2

Consider the linear delay differential equation of first order

$$y'(t) - y\left(\frac{t}{2}\right) = 0, \quad 0 < \alpha \leq 1, \quad 0 < t \leq 1 \quad (25)$$

With initial condition $y(0) = 1$

Apply Sumudu transform to both side of (25)

$$S[y'(t)] = S\left[y\left(\frac{t}{2}\right)\right]$$

Using theorem (1) and initial condition :

$$\frac{Y(u) - y(0)}{u} = S\left[y\left(\frac{t}{2}\right)\right]$$

$$\frac{Y(u) - 1}{u} = S\left[y\left(\frac{t}{2}\right)\right]$$

$$Y(u) = 1 + u S\left[y\left(\frac{t}{2}\right)\right]$$

$$S[y(t)] = 1 + u S\left[y\left(\frac{t}{2}\right)\right] \quad (26)$$

Applying the inverse Sumudu transform to (26) :

$$y(t) = S^{-1}[1] + S^{-1}\left[u S\left[y\left(\frac{t}{2}\right)\right]\right]$$

$$y_0(t) = S^{-1}[1] = 1$$

$$y_0\left(\frac{t}{2}\right) = 1 \quad (27)$$

$$y_{n+1}(t) = S^{-1}\left[u S\left[y_n\left(\frac{t}{2}\right)\right]\right] \quad (28)$$

At $n = 0$ in equation (28) :

$$y_1(t) = S^{-1}\left[u S\left[y_0\left(\frac{t}{2}\right)\right]\right]$$

$$y_1(t) = S^{-1}\left[u S[1]\right]$$

$$y_1(t) = S^{-1}[u] = t$$

$$y_1\left(\frac{t}{2}\right) = \frac{t}{2} \quad (29)$$

At $n = 1$ in equation (28) :

$$y_2(t) = S^{-1}\left[u S\left[y_1\left(\frac{t}{2}\right)\right]\right]$$

$$y_2(t) = S^{-1} \left[u S \left[\frac{t}{2} \right] \right]$$

$$y_2(t) = S^{-1} \left[\frac{u^2}{2} \right] = \frac{t^2}{4}$$

At $n = 1$ in equation (28) :

$$y_3(t) = S^{-1} \left[u S \left[y_2 \left(\frac{t}{2} \right) \right] \right] = S^{-1} \left[u S \left[\frac{t^2}{16} \right] \right] = S^{-1} \left[\frac{u^3}{8} \right] = \frac{t^3}{48}$$

The series solution is given by :

$$y(t) = y_0(t) + y_1(t) + y_2(t) + \dots$$

$$y(t) = 1 + t + \frac{t^2}{4} + \frac{t^3}{48} + \dots$$

The exact solution is $y(t) = \sum_{k=0}^{\infty} \frac{\left(\frac{1}{2}\right)^{\frac{1}{2}k(k-1)}}{k!} t^k$

Fractional delay differential equation

In this section we apply the Sumudu decomposition method to solve linear and nonlinear fractional delay differential equation.

Definition 1

The Sumudu transform of the Caputo fractional derivative is defined as follows :

$$S \left[D^\alpha f(t) \right] = u^{-\alpha} S \left[f(t) \right] - \sum_{k=0}^{n-1} u^{-\alpha+k} f^{(k)}(0) \quad , \quad n-1 < \alpha \leq n$$

For more details see [16] .

Analysis of the method of fractional order

Here we will consider a class of nonlinear delay differential equation of the form :

$$D^\alpha y(t) + R(y) + N(t - \tau) = f(t) \quad , \quad \tau \in R \quad , \quad t < \tau \quad , \quad n-1 < \alpha \leq n \quad (30)$$

With the initial condition :

$$u^k(0) = u_0^k \quad (31)$$

Where R is a linear bounded operator and $f(t)$ is a given continuous function N is a nonlinear bounded operator and $D^\alpha y(t)$ is the term of the fractional order derivative

The Sumudu decomposition method consists of applying the Sumudu transform first on both side of (30) to give :

$$S \left[D^\alpha y(t) \right] + S \left[R(y) \right] + S \left[N(t - \tau) \right] = S \left[f(t) \right]$$

By definition (1)

$$\frac{S(y(t))}{u^\alpha} - \frac{C}{u^{\alpha-k}} + S \left[R(y) \right] + S \left[N(t - \tau) \right] = S \left[f(t) \right]$$

Where $C = \sum_{k=0}^{n-1} f^k(0)$

$$S(y(t)) = u^k C + u^\alpha S[f(t)] - u^\alpha S[R(y)] - u^\alpha S[N(t-\tau)] \quad (32)$$

The standard Sumudu decomposition method define the solution $y(t)$ by the series :

$$y(t) = \sum_{n=0}^{\infty} y_n(t) \quad (33)$$

The nonlinear operator is decomposed as :

$$N(t-\tau) = \sum_{n=0}^{\infty} A_n \quad (34)$$

Where A_n as in (6).

The first a domain polynomials are given as in (7).

Apply (33) and (34) in (32) we have :

$$S\left[\sum_{n=0}^{\infty} y_n\right] = u^k C + u^\alpha S[f(t)] - u^\alpha S\left[R\sum_{n=0}^{\infty} y_n\right] - u^\alpha S\left[\sum_{n=0}^{\infty} A_n\right] \quad (35)$$

Comparing both side of (35) :

$$S[y_0] = u^k C + u^\alpha S[f(t)] \quad (36)$$

$$S[y_1] = -u^\alpha S[Ry_0] - u^\alpha S[A_0] \quad (37)$$

$$S[y_2] = -u^\alpha S[Ry_1] - u^\alpha S[A_1] \quad (38)$$

In general the recursive relation is given by :

$$S[y_n] = -u^\alpha S[Ry_{n-1}] - u^\alpha S[A_{n-1}] \quad , \quad n \geq 1 \quad (39)$$

Applying inverse Sumudu transform to (36–39) then :

$$y_0 = H(t) \quad (40)$$

$$y_n = -S^{-1}\left[u^\alpha S[Ry_{n-1}] + u^\alpha S[A_{n-1}]\right] \quad , \quad n \geq 1 \quad (41)$$

Where $H(t)$ is a function that a rises from the source term and prescribed initial conditions .

Example 3

Consider the nonlinear delay differential equation of first order :

$$D^\alpha y(t) = 1 - 2y^2\left(\frac{t}{2}\right) \quad , \quad 0 \leq t \leq 1 \quad , \quad 0 < \alpha \leq 1 \quad (42)$$

$$y(0) = 0 \quad (43)$$

Apply Sumudu transform to both side of equation (42) :

$$S\left[D^\alpha y(t)\right] = S\left[1 - 2y^2\left(\frac{t}{2}\right)\right]$$

Using definition (1) and initial condition (43) we have :

$$\frac{Y(u) - y(0)}{u^\alpha} = 1 - S \left[2y^2\left(\frac{t}{2}\right) \right]$$

$$\frac{Y(u)}{u^\alpha} = 1 - S \left[2y^2\left(\frac{t}{2}\right) \right]$$

$$S[y(t)] = u^\alpha - u^\alpha S \left[2y^2\left(\frac{t}{2}\right) \right] \quad (44)$$

Applying the inverse Sumudu transform to (44) we have :

$$y(t) = S^{-1} \left[u^\alpha \right] - S^{-1} \left[u^\alpha S \left(2y^2\left(\frac{t}{2}\right) \right) \right]$$

$$y_0(t) = S^{-1} \left[u^\alpha \right] = \frac{t^\alpha}{\Gamma(\alpha + 1)}$$

$$y_0\left(\frac{t}{2}\right) = \frac{\left(\frac{t}{2}\right)^\alpha}{\Gamma(\alpha + 1)} = \frac{t^\alpha}{2^\alpha \Gamma(\alpha + 1)} \quad (45)$$

$$y_{n+1}(t) = -S^{-1} \left[u^\alpha S \left(2A_n \right) \right] \quad (46)$$

From equation (7)

$$A_0 = y_0^2\left(\frac{t}{2}\right)$$

$$A_1 = 2y_0\left(\frac{t}{2}\right)y_1\left(\frac{t}{2}\right) \quad (47)$$

$$A_2 = 2y_2\left(\frac{t}{2}\right)y_0\left(\frac{t}{2}\right) + y_1^2\left(\frac{t}{2}\right)$$

At $n = 0$ in equation (46) :

$$y_1(t) = -S^{-1} \left[u^\alpha S \left(2A_0 \right) \right] \quad (29)$$

Substituting equation (47) in (48) we get :

$$y_1(t) = -S^{-1} \left[u^\alpha S \left(2y_0^2\left(\frac{t}{2}\right) \right) \right]$$

$$y_1(t) = -S^{-1} \left[u^\alpha S \left(2 \left(\frac{t^\alpha}{2^\alpha \Gamma(\alpha + 1)} \right)^2 \right) \right] = -S^{-1} \left[u^\alpha S \left(\frac{t^{2\alpha}}{2^{2\alpha-1} (\Gamma(\alpha + 1))^2} \right) \right]$$

$$y_1(t) = -S^{-1} \left[u^\alpha \left(\frac{u^{2\alpha} \Gamma(2\alpha + 1)}{2^{2\alpha-1} (\Gamma(\alpha + 1))^2} \right) \right]$$

$$y_1(t) = -S^{-1} \left[\frac{u^{3\alpha} \Gamma(2\alpha + 1)}{2^{2\alpha-1} (\Gamma(\alpha + 1))^2} \right]$$

$$y_1(t) = -\frac{t^{3\alpha} \Gamma(2\alpha + 1)}{2^{2\alpha-1} (\Gamma(\alpha + 1))^2 \Gamma(3\alpha + 1)}$$

$$y_1(t) = -A \frac{t^{3\alpha}}{\Gamma(3\alpha + 1)} \quad \text{where} \quad A = \frac{\Gamma(2\alpha + 1)}{2^{2\alpha-1} (\Gamma(\alpha + 1))^2}$$

$$y_1\left(\frac{t}{2}\right) = -A \frac{\left(\frac{t}{2}\right)^{3\alpha}}{\Gamma(3\alpha + 1)} = -A \frac{t^{3\alpha}}{2^{3\alpha} \Gamma(3\alpha + 1)} \quad (49)$$

At $n = 1$ in equation (46) we have :

$$y_2(t) = -S^{-1} \left[u^\alpha S (2A_1) \right] \quad (50)$$

Substituting equations (47) in (50) :

$$y_2(t) = -S^{-1} \left[u^\alpha S \left(2(2y_0(\frac{t}{2}) y_1(\frac{t}{2})) \right) \right]$$

$$y_2(t) = -S^{-1} \left[u^\alpha S \left(4y_0(\frac{t}{2}) y_1(\frac{t}{2}) \right) \right]$$

$$y_2(t) = -S^{-1} \left[u^\alpha S \left(4 \left(\frac{t^\alpha}{2^\alpha \Gamma(\alpha+1)} \right) \left(-A \frac{t^{3\alpha}}{2^{3\alpha} \Gamma(3\alpha+1)} \right) \right) \right]$$

$$y_2(t) = -S^{-1} \left[u^\alpha S \left(-A \frac{t^{4\alpha}}{2^{4\alpha-2} \Gamma(3\alpha+1)} \right) \right]$$

$$y_2(t) = -S^{-1} \left[u^\alpha \left(-A \frac{u^{4\alpha} \Gamma(4\alpha+1)}{2^{4\alpha-2} \Gamma(3\alpha+1)} \right) \right]$$

$$y_2(t) = -S^{-1} \left[-A \frac{u^{5\alpha} \Gamma(4\alpha+1)}{2^{4\alpha-2} \Gamma(3\alpha+1)} \right]$$

$$y_2(t) = A \frac{t^{5\alpha} \Gamma(4\alpha+1)}{2^{4\alpha-2} \Gamma(3\alpha+1) \Gamma(5\alpha+1)}$$

The series solution is given by :

$$y(t) = y_0(t) + y_1(t) + y_2(t) + \dots$$

$$y(t) = \frac{t^\alpha}{\Gamma(\alpha+1)} - A \frac{t^{3\alpha}}{\Gamma(3\alpha+1)} + A \frac{t^{5\alpha} \Gamma(4\alpha+1)}{2^{4\alpha-2} \Gamma(3\alpha+1) \Gamma(5\alpha+1)} + \dots$$

In particular case $\alpha = 1$ then we have :

$$y(t) = \frac{t}{\Gamma(2)} - \frac{t^3}{\Gamma(4)} + \frac{t^5 \Gamma(5)}{2^2 \Gamma(4) \Gamma(6)} + \dots$$

$$y(t) = t - \frac{t^3}{6} + \frac{t^5}{120} + \dots$$

The exact solution when $\alpha = 1$ is $y(t) = \sin(t)$

Example 4

Consider the nonlinear delay differential equation of first order

$$D^\alpha y(t) - y(\frac{t}{2}) = 0 \quad , \quad 0 < \alpha \leq 1 \quad , \quad 0 < t \leq 1 \quad (51)$$

With initial condition $y(0) = 1$

Apply Sumudu transform to both side of (51)

$$S \left[D^\alpha y(t) \right] = S \left[y(\frac{t}{2}) \right]$$

Using definition (1) and initial condition :

$$\frac{Y(u) - y(0)}{u^\alpha} = S\left[y\left(\frac{t}{2}\right)\right]$$

$$\frac{Y(u) - 1}{u^\alpha} = S\left[y\left(\frac{t}{2}\right)\right]$$

$$Y(u) = 1 + u^\alpha S\left[y\left(\frac{t}{2}\right)\right]$$

$$S\left[y(t)\right] = 1 + u^\alpha S\left[y\left(\frac{t}{2}\right)\right] \quad (52)$$

Applying the inverse Sumudu transform to (52) :

$$y(t) = S^{-1}\left[1\right] + S^{-1}\left[u^\alpha S\left[y\left(\frac{t}{2}\right)\right]\right]$$

$$y_0(t) = S^{-1}\left[1\right] = 1$$

$$y_0\left(\frac{t}{2}\right) = 1 \quad (53)$$

$$y_{n+1}(t) = S^{-1}\left[u^\alpha S\left[y_n\left(\frac{t}{2}\right)\right]\right] \quad (54)$$

At $n = 0$ in equation (54) :

$$y_1(t) = S^{-1}\left[u^\alpha S\left[y_0\left(\frac{t}{2}\right)\right]\right]$$

$$y_1(t) = S^{-1}\left[u^\alpha S\left[1\right]\right]$$

$$y_1(t) = S^{-1}\left[u^\alpha\right] = \frac{t^\alpha}{\Gamma(\alpha+1)}$$

$$y_1\left(\frac{t}{2}\right) = \frac{t^\alpha}{2^\alpha \Gamma(\alpha+1)} \quad (55)$$

At $n = 1$ in equation (54) :

$$y_2(t) = S^{-1}\left[u^\alpha S\left[y_1\left(\frac{t}{2}\right)\right]\right]$$

$$y_2(t) = S^{-1}\left[u^\alpha S\left[\frac{t^\alpha}{2^\alpha \Gamma(\alpha+1)}\right]\right]$$

$$y_2(t) = S^{-1}\left[\frac{u^{2\alpha} \Gamma(\alpha+1)}{2^\alpha}\right] = \frac{t^{2\alpha} \Gamma(\alpha+1)}{2^\alpha \Gamma(2\alpha+1)}$$

The series solution is given by :

$$y(t) = y_0(t) + y_1(t) + y_2(t) + \dots$$

$$y(t) = 1 + \frac{t^\alpha}{\Gamma(\alpha+1)} + \frac{t^{2\alpha} \Gamma(\alpha+1)}{2^\alpha \Gamma(2\alpha+1)} + \dots$$

In particular case $\alpha = 1$ then we have :

$$y(t) = 1 + t + \frac{t^2}{4} + \dots$$

The exact solution $\alpha = 1$ is $y(t) = \sum_{k=0}^{\infty} \frac{(\frac{1}{2})^{\frac{1}{2}k(k-1)}}{k!} t^k$

Conclusion:

In this paper the Sumudu decomposition method has been successfully applied to solve delay and fractional delay differential equations. The method is very powerful and efficient in finding the exact solution.

References

- [1] G. K. Watugala, Sumudu transform: a new transform to solve differential equations and control engineering problems, Int. J. Math. Edu. Sci. Tech. 24, 35-43(1993).
- [2] M. A. Asiru, further properties of the Sumudu transform and its applications, Int. J. Math. Edu. Sci. Tech. 33, No. 3, 441-449(2002).
- [3] Seyma Tuluçe Demiray, Hassan Bulut and Fethi Bin Muhammad Belgacem, Sumudu transform method for analytical solutions of fractional type ordinary differential equations. Hindawi publishing corporation Mathematical problems in engineering Volume 2015, Article ID131690, 6pages.
- [4] F.B.M. Belgacem and A.A. Kaaraballi, Sumudu transform fundamental properties investigations and applications, Journal of applied mathematics and stochastic analysis, pp.1-23, (2006).
- [5] H. Eltayeb, A. Kilicman and B. Fisher, a new integral transform and associated distributions integral transforms and special functions Vol. 21, No. 5 pp. 367-379 (2010).
- [6] C. L. Davis, Modification of the optimal velocity traffic model to include delay due to driver reaction time, physica A 319 (2002)557-567.
- [7] I. Epstein, Y. Luo, Differential delay equations in chemical kinetics: nonlinear models, the cross-shaped phase diagram and the Oregonator, Journal of chemical physics, 95 (1991) 244-254.
- [8] E. Fridman, L. Fridman, E. Shustin, Steady models in real control systems with a time delay and periodic disturbances, Journal of dynamical systems measurement and control, 122 (2000) 732-737.
- [9] Y. Kuang, Delay differential equations with applications in population biology, Academic press, Boston, San Diego New York (1993).
- [10] He JH. Some application of nonlinear fractional differential equations and their approximations. Bull Sci. Tech. 1999, 15(2), 86-90.
- [11] Smith H., An introduction to delay differential equations with applications to the life sciences, Springer, New York, NY, USA, 2011
- [12] Luchko A. Groreflo Y., R., The initial value problem for some fractional differential equations with the Caputo derivative, preprint series A 08-98, Fachbereich Mathematik und Informatik Freie Universität Berlin, 1998.
- [13] B. P. Moghaddam, Z. S. Mostaghim, A numerical method based on finite difference for solving fractional delay differential equations J. Taibah Univ. Sci. 7(2013) 120-127.
- [14] M. L. Morgado, N. J. Ford, P. M. Lima, Analysis and numerical methods for fractional differential equations with delay J. Comput. Appl. Math. 252 (2013) 159-168.
- [15] Abdul-Majid Wazwaz, Partial Differential Equation and Solitary Waves Theory, Nonlinear Physical Science, Springer Dordrecht Heidelberg London New York. (2009)
- [16] Q. D. Ktatbeh and F. B. M. Belgacem, Application of the Sumudu transform to the fractional differential equations, Nonlinear Studies, Vol. 18 No. 1, pp. 99-112 (2011).

- [17] Adomian G. Solving Frontier problems of physics: The Decomposition method Kluwer Academic publishers Boston , MA(1994).
- [18] Eltayeb H , Kilicman A and Mesloub S . Application of Sumudu decomposition method to solve nonlinear system of Voltera integro differential equation . Abs. Appl. Anal 2014 Article ID 503141(6pp).
- [19] Pranay Goswami , Rubayyi T Alqahtani , Solution of fractional differential equations by Sumudu transform and variational iteration method , J. Nonlinear Sci. Appl. 9(2016) 1944-1951 .